Racines Carr¢es (B)

Trouvez la racine carrée de chaque nombre suivant.

N1225 = 36 - A6
V4 - N = s4
V3025 = 7225 = 409
V3025 = 7225 = 6724
3136 = 6241 = 2401
N1849 = 4 = A2209
V6889 = 484 = 784
V9604 = 2500 = A4
V7396 = 196 = \3721
V2601 = V6561 = \49
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Racines Carrées (B) Solutions

V1 225

V3 025

V3 025

V3 136

V1 849

V6 889

V9 604

N7 396

V2 601

Trouvez la racine carrée de chaque nombre suivant.

=35 V36 =6 V16 =4
=2 729 =27 784 =28
=55 7225 =85 4096 =64
=55 N7225 =85 V6724 =82
=56 V6241 =79 V2401 =49
=43 \4 =2 2209 =47
=83 484 =22 784 =28
=98 V2500 =50 V4 =2
=86 V196 =14 V3721 =61
=51 V6561 =38l 49 =7
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